
KEG
All Prices subject to shipping charges FOB Factory

Steel Ceramic

Part # Inserts Inserts Descripton

701002 32,122.02$                      Kleen Site Camera System 6"

G00100062-M5 54.01$                               Drill Point M5

G00100134 13.94$                               Steel M6 Inserts

G00100175 41.82$                             Titanium Ceramic M6 Inserts

G00100062-M8 58.55$                               Drill Point M8

G00100130 27.88$                               Steel M14 Inserts

G00100134 13.94$                               Steel M6 Inserts

G00100135 20.92$                               Steel M8 Inserts Allen Head

G00100138 20.92$                               Steel M8 Inserts Hex Head

G00100173 48.80$                             Titanium Ceramic M8 Inserts Allen Head

G00100174 55.78$                             Titanium Ceramic M14 Inserts

G00100175 41.82$                             Titanium Ceramic M6 Inserts
G00100177 48.80$                             Titanium Ceramic M8 Inserts Hex Head

100052 198.81$                             KEG Quattro Nozzle  With Forward Jet

100053 214.85$                             KEG Quattro Nozzle With Drill Point

100067 405.09$                             KEG Rambo Nozzle

PRICE DATE IN EFFECT JANUARY 1, 2024

ALL PRICING INCLUDES NOZZLE, INSERTS & DRILL POINTS (IF ANY)

ALL SPECIALTY NOZZLES & CHAIN CUTTERS ARE CERAMIC INSERTS ONLY

OK State Contract Pricing

Kleen Sight

INSERTS

INSERTS FOR 3/8" & 1/4" NOZZLES

INSERTS FOR 3/4", 1/2",  1", 1 1/4", SPECIALTY NOZZLES, FLOOR CLEANERS, & CHAIN CUTTERS

1/4" Nozzles 



100070 668.44$                             KEG Rotor Nozzle

100086 101.40$                             KEG Standard Nozzle With Forward Jet

100100 107.74$                             KEG Sewer Flush Nozzle Without Forward Jet

100114 95.07$                               KEG Ball Nozzle Without Forward Jet

100115 95.07$                               KEG Ball Nozzle With Forward Jet

100199 1,121.11$                          KEG Duce Nozzle

100210 169.52$                             KEG Egg Nozzle

100218 169.52$                             KEG Egg Devastator Nozzle

100004 532.18$                             715.37$                           KEG Cleaning Nozzle

100009 490.48$                             658.50$                           KEG Traction Nozzle With Forward Jet

100050 202.61$                             KEG Quattro Nozzle With Forward Jets

100051 214.85$                             KEG Quattro Nozzle With Drill Point

100067a 405.09$                             KEG Rambo Nozzle With Forward Jets and Drill Point

100084 104.48$                             KEG Standard Nozzle With Forward Jet

100069 668.44$                             KEG Rotor Nozzle

100098 107.74$                             KEG Sewer Flush Nozzle Without Forward Jets

100105 1,121.11$                          KEG Duce Nozzle

100112 95.07$                               KEG Ball Nozzle Without Forward Jets

100113 95.07$                               KEG Ball Nozzle With Forward Jet

100211 169.52$                             KEG Egg Nozzle with Forward Jet

100219 169.52$                             KEG Egg Devastator Nozzle with Forward Jets

100001 532.18$                             715.37$                           KEG Cleaning Nozzle 1/2"

100011 490.47$                             658.50$                           KEG Traction Nozzle 1/2" with forward jet

100054 304.26$                             KEG Quattro Nozzle With Forward Jets

100054-HX 304.26$                             392.79$                           KEG Quattro Hydro Excavating Nozzle

100055 359.40$                             KEG Quattro Nozzle With Drill Point

3/8" Nozzles

Please Indicate "-S" for Steel Inserts when ordering

Please Indicate "-C" for Ceramic Inserts or  "-S" for Steel Inserts when ordering

1/2" Nozzles  - Patented Fluid Mechanics Tier 3

Please Indicate "-C" for Ceramic Inserts or  "-S" for Steel Inserts when ordering

1/2" Nozzles - TIER ONE, TIER TWO 



100066 455.65$                             KEG Rambo Nozzle With Forward Jets and Drill Point

100071 915.13$                             1,070.99$                        KEG Rotor Nozzle @ 45 Degrees

100071-90 915.13$                             1,070.99$                        KEG Rotor Nozzle @ 90 Degrees

100088 115.62$                             

KEG Standard Nozzle Please Specify With or Without 

Forward Jet

100101 294.96$                             414.99$                           KEG Sewer Flush Nozzle

100106 1,460.57$                          1,595.03$                        KEG Duce Nozzle

100117 118.74$                             KEG Ball Nozzle With Forward Jet

100118 293.23$                             KEG Forward Jet Nozzle

100136 150.06$                             180.77$                           KEG Hand Injector Nozzle

100212 276.07$                             407.13$                           KEG Egg Nozzle with Forward Jet 

100220 386.51$                             554.47$                           KEG Egg Devastator Nozzle With 4 Forward Jets

100320 668.87$                             764.91$                           

KEG Twister Nozzle - HydroExcavating Specify X for Blank 

Rear Jets

101106 1,460.57$                          1,595.03$                        KEG Duce Nozzle Small Version

100002 797.80$                             970.79$                           KEG Cleaning Nozzle

100013 944.18$                             1,095.58$                        KEG Traction Nozzle with forward jet

100020 2,154.18$                          2,522.72$                        KEG Royal Nozzle

100030 1,865.29$                          2,110.97$                        KEG Torpedo Nozzle 

100040 1,372.17$                          1,679.29$                        KEG Sewer Nozzle

100056 511.43$                             589.64$                           KEG Quattro Nozzle With Forward Jets

100057 531.36$                             608.22$                           KEG Quattro Nozzle With Drill Point

100065 1,009.28$                          1,194.98$                        KEG Rambo Nozzle With Forward Jets and Drill Point

100072 1,522.91$                          1,683.84$                        KEG Rotor Nozzle

100090 138.66$                             

KEG Standard Nozzle Please Specify With or Without 

Forward Jet

100102 464.84$                             637.74$                           KEG Sewer Flush Nozzle

100107 2,455.25$                          2,645.73$                        KEG Duce Nozzle

Please Indicate "-C" for Ceramic Inserts or  "-S" for Steel Inserts when ordering

3/4" Nozzles  - Patented Fluid Mechanics Tier 3

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

3/4" Nozzles - TIER ONE, TIER TWO 



100213 313.12$                             481.17$                           KEG Egg Nozzle 

100221 494.13$                             734.18$                           KEG Egg Devastator with Four Forward Jets

100321 668.87$                             764.91$                           

KEG Twister Nozzle - HydroExcavating Specify X for Blank 

Rear Jets

100003 1,256.27$                          1,429.28$                        KEG Cleaning Nozzle 

100015 1,091.25$                          1,242.64$                        KEG Traction Nozzle  with forward jet ALUMINUM

100021 2,154.18$                          2,522.72$                        KEG Royal Nozzle

100031 1,865.29$                          2,110.97$                        KEG Torpedo Nozzle

100041 1,372.17$                          1,679.29$                        KEG Sewer Nozzle

101103 1,256.27$                          169.28$                           KEG Cleaning Nozzle Wide Angle

107003 1,256.27$                          1,429.28$                        KEG Cleaning Nozzle Aluminum

107015 1,091.25$                          1,242.63$                        KEG Traction Nozzle  with forward jet

107021 2,154.18$                          2,522.72$                        KEG Royal Nozzle Aluminum

107031 1,865.29$                          2,110.97$                        KEG Torpedo Nozzle Aluminum

100058 572.45$                             636.85$                           KEG Quattro Nozzle With Forward Jets

100059 597.86$                             662.19$                           KEG Quattro Nozzle With Drill Point

100063 1,147.37$                          1,368.02$                        KEG Rambo Nozzle With Forward Jets and Drill Point

100073 1,536.56$                          1,757.11$                        KEG Rotor Nozzle Small

100073L 1,722.55$                          1,905.08$                        KEG Rotor Nozzle Large

100092 158.90$                             

KEG Standard Nozzle Please Specify With or Without 

Forward Jet

100103 760.18$                             976.42$                           KEG Sewer Flush Nozzle

100108 3,257.10$                          3,369.40$                        KEG Duce Nozzle Large

100214 386.85$                             497.36$                           KEG Egg Nozzle 

100222 502.12$                             663.05$                           KEG Egg Devastator with Four Forward Jets

100264 -$                                   1,514.68$                        KEG Stallion Nozzle

100322 889.47$                             985.49$                           

KEG Twister Nozzle - HydroExcavating Specify X for Blank 

Rear Jets

1" Nozzles - TIER ONE, TIER TWO 

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

1" Nozzles  - Patented Fluid Mechanics Tier 3

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering



101108 3,257.10$                          3,206.92$                        KEG Duce Nozzle Small Version

101058 1,127.15$                          1,321.79$                        KEG Quattro Nozzle With Forward Jets Large

100005 1,256.94$                          1,495.40$                        KEG Cleaning Nozzle 

100017-C 1,203.92$                          1,355.31$                        KEG Traction Nozzle  with forward jet

100022 2,192.41$                          2,559.67$                        KEG Royal Nozzle

100032 1,992.24$                          2,275.95$                        KEG Torpedo Nozzle

100042 1,761.68$                          2,134.53$                        KEG Sewer Nozzle

100060 1,127.16$                          1,321.43$                        KEG Quattro Nozzle With Forward Jets

100064 1,211.62$                          1,406.28$                        KEG Rambo Nozzle With Forward Jets and Drill Point

100074 1,896.06$                          2,091.26$                        KEG Rotor Nozzle Small

100094 176.73$                             

KEG Standard Nozzle Please Specify With or Without 

Forward Jet

100104 816.56$                             1,032.84$                        KEG Sewer Flush Nozzle

100109 3,308.03$                          3,432.98$                        KEG Duce Nozzle Large

100215 477.89$                             645.95$                           KEG Egg Nozzle 

100223 640.75$                             801.66$                           KEG Egg Devastator with Four Forward Jets

100266 -$                                   3,491.57$                        KEG OMG Nozzle 1 1/2" with bushing to 1 1/4" or 1"

100270 2,797.57$                        Aqua Power Mini (Formerly the R2D2)

100274 4,163.41$                        Aqua Power  3/4"

100276 4,563.06$                        Aqua Power 700

90000008RU 1,905.08$                        Russian Rotor Nozzle 1"

800010 455.02$                           Fire Nozzle

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

1 1/4" Nozzles  - Patented Fluid Mechanics Tier 3

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

1 1/4" Nozzles - TIER ONE, TIER TWO 

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

1 1/2" Nozzles - TIER ONE, TIER TWO , TIER THREE

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

 SPECIALTY NOZZLES

 NOZZLE CONTROLED ROTATION

Aqua Power Expansion Kit to 24"



100273 1,712.63$                        Aqua Power Expansion Kit to 24"

G00210011 244.46$                             Skids for Expansion (Requires 4)

G00210014 298.45$                             4 X 6 Plates For Expanison (Requires 4)

G00210015 76.97$                               4 x 9 Plates Needed for Expansion to 24" (Requires 4)

G00210082 4.34$                                 Hex  Head Bolt 8mm (Requires 32)

G00210083 2.75$                                 Hex Head Nut 8mm (Requires 32)

G00210084 2.75$                                 Lock Washer 8mm (Requires 32)

G00800012 598.89$                             1" HP Swivel

G00800013 654.86$                             1 1/4" HP Swivel

G00801034 598.89$                             1" - 3/4" HP Swivel

G00801141 654.86$                             1 1/4" - 1" HP Swivel

100045 5,151.84$                        1" Equalizer Nozzle With Skid

100046 5,151.84$                        1 1/4" Equalizer Nozzle With Skid

G00100174 55.78$                             Titanium Ceramic M14 Inserts

G00100177 48.80$                             Titanium Ceramic M8 Inserts Hex Head

G00210010 186.83$                             Skid for Equalizer Nozzle (Requires 3)

G00210016 188.15$                             Distance Plate for (Requires 3)

G00210082 4.34$                                 Hex Bolt for Equalizer Nozzle

G00210083 2.75$                                 Hex Head Nut for Equalizer Nozzle

G00210084 2.75$                                 Lock Washer For Equalizer Nozzle

G00800012 598.89$                             1" HP Swivel

G00800013 654.86$                             1 1/4" HP Swivel

G00801034 598.89$                             1" - 3/4" HP Swivel
G00801141 654.86$                             1 1/4" - 1" HP Swivel

 SPECIALTY NOZZLES - TIER 3

Please Indicate "C" for Ceramic Inserts when ordering

EQUALIZER NOZZLE - PATENTED FLUID MECHANICS

ACCESSORIES FOR EQUALIZER NOZZLES

Please Indicate "C" for Ceramic Inserts when ordering

FLOOR CLEANER FAMILY - PATENTED FLUID MECHANICS- TIER 3



100120 2,369.63$                          2,453.21$                        

KEG Floor Cleaner, 5 jet, with 1" or 3/4" swivel (1" x 1/2" 

Swivel Included instead for 1/2" truck for 5 Jet)

100121 3,526.91$                          3,754.49$                        

KEG Floor Cleaner, 6 jet,  with 1" swivel (1" X 3/4" Swivel 

included instead for 3/4" truck)

100121-T 10,109.34$                        10,900.74$                      
Twin KEG Floor Cleaner, 6 jet,  with 1" swivel Complete

100122 3,871.09$                          4,106.59$                        

KEG Floor Cleaner, 8 jet,  with 1" swivel (1" X 3/4" Swivel 

included instead for 3/4" Truck)

100122-T 10,909.74$                        11,829.12$                      
Twin KEG Floor Cleaner, 8 jet,  with 1" swivel Complete

100123 4,432.56$                          4,714.92$                        

KEG Floor Cleaner, 10 jet, with 1 1/4" swivel (1 1/4" x 1" 

Swivel included instead for 1" Truck)

100123-T 12,144.83$                        13,294.02$                      

Twin KEG 10 jet  Floor Cleaner, 10, with 1.25" swivel  

Complete

100124 4,475.53$                          4,998.80$                        

KEG Floor Cleaner 12 jet, with 1 1/4" swivel (1 1/4" X 1" 

Swivel included instead for 1" Truck)

100124-C-T 12,766.93$                        14,061.88$                      
Twin KEG Floor Cleaner 12 jet, with 1 1/4" swivel Complete

100125 5,025.45$                          5,437.59$                        

KEG Floor Cleaner, 14 jet, 1 1/4" swivel" (1 1/4" X  1" Swivel 

included instead for 1" Truck)

100125-T 13,554.77$                        15,163.67$                      
Twin KEG Floor Cleaner 14 jet with 1 1/4" Swivel Complete

G00100126 1,011.57$                          

Wye Connector Fitting - Dual Water Source Feed Device 

Small

G00100126a 1,088.00$                          

Wye Connector Fitting - Dual Water Source Feed Device 

Large

G00100126b 2,223.04$                          H Connector Fitting - Dual water source Feed Device

G00100127 13.03$                               

Lead balls for adding weight to KEG Floor Cleaners (sold by 

the lb)

G00100128 346.86$                             Skids for Floor Cleaner -Weld on

Please Indicate "C" for Ceramic Inserts or "S" for Steel Inserts when ordering

FLOOR CLEANER PARTS



G00100128a 425.97$                             Skids for Floor Cleaner (REQUIRES 2)

G00100180 727.25$                             
Roll Cage for 6 Jet Floor Cleaner (does not include skids)

G00100181 727.25$                             
Roll Cage for 8 Jet Floor Cleaner (does not include skids)

G00100182 727.25$                             

Roll Cage for 10 or 12 Jet Floor Cleaner (does not include 

skids)

G00100183 727.25$                             
Roll Cage for 14 Jet Floor Cleaner (does not include skids)

G00100184 93.46$                               

Flow Angle Adapters for KEG floor cleaners - 90 degree 

sweep

G00800012 598.89$                             1" HP Swivel

G00800013 654.86$                             1 1/4" HP Swivel

G00801034 598.86$                             1" - 3/4" HP Swivel

G00801141 654.86$                             1 1/4" - 1" HP Swivel

G90000008 7.93$                                 Bolts for Skids (REQUIRES 8)

200110 2,248.59$                        Micro Chain Cutter Kit Complete - 1/2" HP Swivel

200343 4,410.70$                        Mini Chain Root Cutter Kit Complete - 1/2" Swivel

200344 4,410.70$                        Mini Chain Root Cutter Kit Complete - 3/4" Swivel

200345 4,410.70$                        Mini Chain Root Cutter Kit Complete - 1" Swivel

200242 7,599.98$                        

Super Cutter Plus 150 Chain Root Cutter Kit Complete - 

Setup for 6" to 16"

200903 2,365.62$                        

Super Cutter Plus 150 Chain Root Cutter Kit Complete - 

Setup for 6" to 16" plus 24" Expansion Kit                                                                                                                                                                        

REQUIRES 200242-C TO BUY or Already HAVE

200151 9,201.08$                        

Super Cuter Plus 200  Chain Cutter Kit Complete - Basic 

Setup to 20" Diameter

200901 2,560.64$                        

Super Cutter Plus 200 Chain Cutter Kit Complete - Basic 

Setup plus 32" Expansion Kit                                                                         

Requires 200151-C TO BUY or Already HAVE

CHAIN CUTTER FAMILY



G00200902 5,452.16$                        

Super Cutter Plus 200 Chain Cutter Kit Complete - Basic 

Setup plus 48" Expansion Kit                                                              

Requires 200151-C & 200901-C TO Buy or Already Have

200400 12,584.80$                      1" Super Nova Chain Cutter 6" to 16"                               

200402 2,948.99$                        

Super Nova Chain Cutter Extension kit to 24" Pipe                                                                                                                                   

REQUIRES 200400-C TO BUY Or Already HAVE

200403 3,763.49$                        

Super Nova Chain Cutter Extension kit to 32" Pipe                                                                                                                               

REQUIRES 200400-C & 200402-C TO BUY or Already 

HAVE

200404 5,129.93$                        

Super Nova Chain Cutter Extension kit to 48 " Pipe                                                                                                                              

REQUIRES 200400-C, 200402-C, & 200403-C TO Buy or 

Already Have

210210 4,969.88$                        Super Nova Pulling Device Kit 32" to 48"

G00200430 2,661.56$                        Super Nova Pulling Device Kit to 32"

200110-C 2,248.59$                        Micro Chain Cutter Kit

G00100135 20.92$                               M8 Blank Insert 1

G00100175 41.82$                             Titanium Ceramic M6 Inserts

G00200021 181.84$                             Micro or Mini Chain Cutters - Replacement Chain

G00200110 1,618.34$                          Micro Chain Cutter - Main Body Only

G00200111 261.93$                             Micro Chain Cutter - Fixed Skid  4"

G00800010 470.87$                             Swivel Joint, HP 1/2" Hose Connection

A00800056-Micro 57.12$                               Tool Box - Micro Cutter

A00800061 1.30$                                 Screw Plug 1/2"

A00800064 62.32$                               Chain Breaker 

A00900016 88.68$                               Micro Chain Cutter Leader Hose

A00900032 4.49$                                 Allen Wrench 4mm

A00900033 4.13$                                 Allen Wrench 3mm
A00900034 10.35$                               Loctite Blue

ALL Chain Cutters are available with Ceramic Inserts Only

Micro Chain Cutter Kit

Includes Following



G00210230 871.37$                             Micro Chain Cutter Pulling Device

G00200114 6.55$                                 Micro Plate Pulling Device

G00200117 867.72$                             Micro Chain Cutter Chain Retainer

G00200120 234.64$                             Micro Bearing Bushing Pulling Device

G00200122 24.58$                               Micro Ring Nut Pulling Device

G00210083 2.75$                                 Hexagon Nut M8

G00210085 5.46$                                 Micro Cylinder Head Screw M8
G00210230 871.37$                             Micro Chain Cutter Pulling Device

G00100135 20.92$                               M8 Blank Insert 1

G00100175 41.82$                             Titanium Ceramic M6 Inserts

G00200021 181.84$                             Micro or Mini Chain Cutters - Replacement Chain

G00200061 5.34$                                 M8 Cylinder Head Screw

G00200062 10.19$                               Screw - Fuse

G00200063 32.19$                               Chain Retention Screw

G00200075 5.34$                                 Screwed Pin with Hexagon Head M5

G00200110 1,618.34$                          Micro Chain Cutter - Main Body Only

G00200111 261.93$                             Micro Chain Cutter - Fixed Skid  4"

G00200112 310.92$                             Micro Chain Cutter - Fixed Skid 6"

G00200113 289.21$                             Micro Chain Cutter - Fixed Skid 5"

G00200114 6.55$                                 Micro Plate Pulling Device

G00200115 1,011.40$                          Micro Rotating Axle

G00200116 768.30$                             Micro Rotating Body

G00200117 867.62$                             Micro Chain Cutter Chain Retainer

G00200118 57.29$                               Micro Spacer Disk

G00200119 240.10$                             Micro Bearing Bushing

G00200120 234.64$                             Micro Bearing Bushing Pulling Device

G00200121 6.28$                                 Micro Flat Head Screw

G00200122 24.58$                               Micro Ring Nut Pulling Device

G00210083 2.75$                                 Hexagon Nut M8

Includes Following

Micro Chain Cutter Pulling Device

Micro Chain Cutter Parts



G00210085 5.46$                                 Micro Cylinder Head Screw M8

G00210230 871.37$                             Micro Pulling Device

G00200350 692.14$                             Tips for Chain Set of 2

G00800010 470.87$                             Swivel Joint, HP 1/2" Hose Connection

A00800056-Micro 57.12$                               Tool Box - Micro Cutter

A00800061 1.30$                                 Screw Plug 1/2"

A00800064 62.32$                               Chain Breaker 

A00900016 88.67$                               Micro Chain Cutter Leader Hose

A00900032 4.49$                                 Allen Wrench 4mm

A00900033 4.18$                                 Allen Wrench 3mm
A00900034 10.35$                               Loctite Blue

200343-C 4,410.70$                        MINI Chain Cutter Kit 1/2"

G00100135 20.92$                               M8 Blank Skids Locking Screws

G00100175 41.82$                             M6 Inserts

G00200021 181.84$                             Replacement Chain

G00200065 373.78$                             Guide Skid 4"

G00200067 418.23$                             Guide Skid 6"

G00200068 519.63$                             Guide Skid 8"

G00200344 2,522.17$                          Mini Chain Cutter 3/4" Body

A00800056-Mini 77.91$                               Tool Box - Mini Cutter

A00800061 1.30$                                 Screw Plug 3/4"

A00800064 62.32$                               Chain Breaker

G00803412 506.36$                             3/4" - 1/2" HP Swivel

A00900016 88.67$                               Mini Chain Leader Hose 1/2" 

A00900032 4.49$                                 Allen Wrench 4mm

A00900033 4.18$                                 Allen Wrench 3mm
A00900034 10.35$                               Loctite Blue

200344-C 4,410.70$                        MINI Chain Cutter Kit 3/4"

MINI Chain Cutter

MINI Chain Cutter Kit 1/2"

Includes Following

MINI Chain Cutter Kit 3/4"



G00100135 20.92$                               M8 Blank Skids Locking Screws

G00100175 41.82$                             M6 Inserts

G00200021 181.84$                             Replacement Chain

G00200065 373.78$                             Guide Skid 4"

G00200067 418.23$                             Guide Skid 6"

G00200068 519.63$                             Guide Skid 8"

G00200344 2,522.17$                          Mini Chain Cutter 3/4" Body

G00800011 506.36$                             3/4" HP Swivel

A00800056-Mini 77.91$                               Tool Box - Mini Cutter

A00800061 1.30$                                 Screw Plug 3/4"

A00800064 62.32$                               Chain Breaker

A00900017 107.98$                             Mini Chain Leader Hose 3/4"

A00900032 4.49$                                 Allen Wrench 4mm

A00900033 4.18$                                 Allen Wrench 3mm
A00900034 10.35$                               Loctite Blue

200345-C 4,410.70$                        MINI Chain Cutter Kit 1"

G00100135 20.92$                               M8 Blank Skids Locking Screws

G00100175 41.82$                             M6 Inserts

G00200021 181.84$                             Replacement Chain

G00200065 373.78$                             Guide Skid 4"

G00200067 418.23$                             Guide Skid 6"

G00200068 519.63$                             Guide Skid 8"

G00200344 2,522.17$                          Mini Chain Cutter 3/4" Body

G00800011 506.36$                             3/4" HP Swivel

A00800056-Mini 77.91$                               Tool Box - Mini Cutter

A00800061 1.30$                                 Screw Plug 3/4"

A00800064 62.32$                               Chain Breaker

A00900017a 138.61$                             Mini Chain Leader Hose 3/4" X 1"

A00900032 4.49$                                 Allen Wrench 4mm

Includes Following

MINI Chain Cutter Kit 1"

Includes Following



A00900033 4.18$                                 Allen Wrench 3mm
A00900034 10.35$                               Loctite Blue

G00100135 20.92$                               M8 Blank Skids Locking Screws

G00100175 41.82$                             M6 Inserts

G00200021 181.84$                             Replacement Chain

G00200060 117.66$                             Disk Spacer

G00200061 9.50$                                 Cap Screw Socket Hex Head For Spacer Disk

G00200062 10.19$                               Screw - Fuse

G00200063 32.19$                               Screw - Chain Retention (Requires 2)

G00200065 373.78$                             Guide Skid 4"

G00200066 392.84$                             Guide Skid 5"

G00200067 418.23$                             Guide Skid 6"

G00200068 519.63$                             Guide Skid 8"

G00200068b 570.14$                             Guide Skid 10"

G00200075 5.34$                                 Screwed Pin With Hexagon Head 

G00200130 1,197.87$                          Rotating Body

G00200131 914.43$                             Chain Retainer

G00200132 24.11$                               Teflon Ring Bearing

G00200133 320.85$                             Bushing - Bearing

G00200134 385.05$                             Bushing - Collar

G00200344 2,522.17$                          Mini Chain Cutter 3/4" Body

G00200348 1,577.56$                          Running Axle

G00200350 69.22$                               Hard Metal Plates for Deposits  Set of 2

G00800011 506.36$                             3/4" HP Swivel

A00800056-Mini 77.91$                               Tool Box - Mini Cutter

A00800061 1.30$                                 Screw Plug 3/4"

A00800064 62.32$                               Chain Breaker

G00803412 506.36$                             3/4" - 1/2" HP Swivel

A00900016 88.68$                               Mini Chain Leader Hose 1/2"

A00900017 107.98$                             Mini Chain Leader Hose 3/4"

A00900017a 138.61$                             Mini Chain Leader Hose 3/4" - 1"

MINI Chain Cutter Parts



A00900032 4.49$                                 Allen Wrench 4mm

A00900033 4.18$                                 Allen Wrench 3mm
A00900034 10.35$                               Loctite Blue

200242-C 7,599.98$                        Super 150 Chain Cutter Kit

G00100174 -$                                   55.78$                             

Titanium Ceramic M14 Inserts for Propulsion                      

(Requires 5)

G00100175 -$                                   41.82$                             Titanium Ceramic M6 Inserts for Rotation (Requires 4)

G00200007 13.64$                               Dismantling Key

G00200017 116.46$                             Rotating Spinner 16MM (Requires 4)

G00200018 129.06$                             Rotating Spinner 30MM (Requires 4)

G00200022 380.77$                             15' Replacement Chain

G00200033 5.26$                                 Hex Head Bolt 8MM Short 

G00200035 41.20$                               SCP 150 Chain Retainer Bolts (Requires 2)

G00200070 367.16$                             Cross Cutter Stainless Steel

G00200242 7,059.79$                          Super 150 Chain Cutter Main Body Only

G00210016 188.15$                             Distance Plate 3.25" X 5"

G00210045 173.52$                             Standard Skid 

G00210051 14.45$                               Protective Synthetic O-Ring

G00210083 2.75$                                 Hex Head Nut 8MM

G00210084 2.75$                                 Lock Washer

G00800012 598.89$                             1" HP Swivel

A00800055 35.94$                               Grease Gun

A00800057 148.02$                             Tool Box 28"

A00800066 88.31$                               Heavy Duty Chain Breaker

A00801034 598.89$                             1" - 3/4" HP Swivel For Machines Running 3/4" Hose

G00900018 126.11$                             1" Leader Hose

A00900030 9.26$                                 Allen Wrench 6MM

A00900031 5.89$                                 Allen Wrench 5MM

A00900032 4.49$                                 Allen Wrench 4MM

A00900033 4.18$                                 Allen Wrench 3MM

Super 150 Chain Cutter Kit

Includes the Following Parts



A00900034 10.35$                               LocTite Blue

A00900035 23.25$                               LocTite Anti-Seize
A00900036 41.51$                               Chain Cutter Wrench Set

200903-C 2,365.62$                        Super Cutter 150 Expansion to 24"

G00100175 41.82$                             Titanium Ceramic M6 Inserts (Require 4)

G00200020 256.20$                             Rotating Spinners 100MM (Requires 4)

G00200033 4.98$                                 Hex Head Bolts  M8 X 20MM (Requires 10)

G00210011 244.46$                             20" Long Skid (Requires 4)

G00210015 76.97$                               Distance Plate 4" X 9" (Requires 4)

G00210016 188.15$                             Distance Plate 3.25" X 5" (Requires 4)

G00210083 2.75$                                 Hexagon Nuts 8MM (Requires 10)
G00210084 2.75$                                 Lock Washer 8MM (Requires 10)

G00100175 41.82$                             

Titanium M6 Inserts - Spray Bar (Requires 3 per head, 12 

per set)

G00200038 207.62$                             Tube Extension 4" (Requires 4)

G00200039 229.28$                             Tube Extension 6" (Requires 4) (Requires 200903-C)

G00200040 250.91$                             Tube Extension 10" (Requires 4) (Requires 200903-C)

G00200041 722.34$                             Spray Bar (Requires 4)

G00200076 198.99$                             Tube Extension 2" (Requires 4)

G00210220 1,002.95$                          Super Cutter 150 Pulling Device 8" up to 24"

G00100174 55.78$                             Titanium Ceramic M14 Inserts (Requires 5)

G00100175 41.82$                             Titanium Ceramic M6 Inserts (Requires 8)

G00200007 13.64$                               Dismantling Key

G00200016 102.06$                             Rotating Spinner 8MM (Requires 4)

G00200017 116.10$                             Rotating Spinner 16MM (Requires 4)

G00200018 129.06$                             Rotating Spinner 30MM (Requires 4)

G00200019 185.51$                             Rotating Spinner 50MM (Requires 4)

Super Cutter 150 Expansion to 24"

Includes Following

Super Cutter 150 Spray Bars

Super Cutter 150 Pulling Device

Super Cutter 150 Parts



G00200020 256.20$                             Rotating Spinner 100MM (Requires 4)

G00200022 380.77$                             15' Replacement Chain

G00200033 4.98$                                 Hex Head Bolt 8MM Short 

G00200035 41.19$                               SCP 150 Chain Retainer Bolts (Requires 2)

G00200036 100.95$                             Locking Pin for Cross Cutter

G00200038 207.62$                             Tube Extension 4" (Requires 4)

G00200039 229.30$                             Tube Extension 6" (Requires 4) (Requires 200903-C)

G00200040 250.91$                             Tube Extension 10" (Requires 4) (Requires 200903-C)

G00200041 722.34$                             Spray Bar (Requires 4)

G00200070 367.16$                             Cross Cutter Stainless Steel

G00200073 3.00$                                 Screw - Socket Hex Cap - M6 X 18MM

G00200076 198.99$                             Tube Extension 2" (Requires 4)

G00200242 7,059.77$                          Super 150 Chain Cutter Main Body Only

G00210011 244.46$                             20" Long Skid

G00210015 76.97$                               Distance Plate 4" X 9"

G00210016 188.15$                             Distance Plate 3.25" X 5"

G00210028 97.14$                               Bearing Plate, Bronze Plated

G00210042 2,226.00$                          Running Axle

G00210043 1,218.03$                          Rotating Body

G00210044 1,172.71$                          Fin Assembly

G00210045 173.52$                             Standard Skid 

G00210046 267.00$                             Bearing Plate

G00210047 848.11$                             Chain Retainer

G00210049 71.16$                               Bearing Plate Bronze Plated

G00210050 416.72$                             Bushing (Requires 2)

G00210051 14.45$                               Protective Synthetic O-Ring

G00210052 0.71$                                 Hex Screw M8X30

G00210083 2.75$                                 Hex Head Nut 8MM

G00210084 2.75$                                 Lock Washer

G00210101 12.62$                               Retaing Ring D39 (Requires 2)

G00210102 4.18$                                 Locking Jam Screw Pin M8X12 90 degree Point

G00210111 90.79$                               Tips or Blocks for Chain Per Set (Requires 2)



G00210220 1,002.95$                          Super Cutter 150 Pulling Device 8" up to 32"

G00800012 598.89$                             1" HP Swivel

A00800055 34.60$                               Grease Gun

A00800057 148.02$                             Tool Box 28"

A00800066 88.31$                               Heavy Duty Chain Breaker

G00801034 598.89$                             1" - 3/4" HP Swivel For Machines Running 3/4" Hose

A00900018 126.11$                             1" Leader Hose

A00900030 9.26$                                 Allen Wrench 6MM

A00900031 5.89$                                 Allen Wrench 5MM

A00900032 4.49$                                 Allen Wrench 4MM

A00900033 4.18$                                 Allen Wrench 3MM

A00900034 10.35$                               LocTite Blue

A00900035 22.94$                               LocTite Anti-Seize
A00900036 41.51$                               Chain Cutter Wrench Set

200151-C 9,201.08$                        Super 200 Chain Cutter Kit

G00100174 55.78$                             
Titanium Ceramic M14 Inserts for Propulsion (Requires 5)

G00100175 41.82$                             Titanium Ceramic M6 Inserts for Rotation (Requires 4)

G00200007 13.64$                               Dismantling Key

G00200017 116.46$                             Rotating Spinner 16MM (Requires 4)

G00200019 185.52$                             Rotating Spinner 50MM (Requires 4)

G00200022 380.77$                             15' Replacement Chain

G00200033 4.98$                                 Hex Head Bolt 8MM Short 

G00200035 41.20$                               Chain Retainer Bolts (Requires 2)

G00200070 542.29$                             Cross Cutter Stainless Steel

G00200242 7,059.77$                          Super 200 Chain Cutter Main Body Only

G00210010 186.83$                             Super 200 Regular Skid

G00210014 298.45$                             SCP 200 Distance Plate 4 X 6

G00210031 16.72$                               Protective Synthetic O-Ring

G00210083 2.75$                                 Hex Head Nut 8MM

Super 200 Chain Cutter Kit

Includes the Following Parts



G00210084 2.75$                                 Lock Washer

G00800012 598.89$                             1" HP Swivel

A00800055 35.94$                               Grease Gun

A00800057 148.02$                             Tool Box 28"

A00800066 88.31$                               Heavy Duty Chain Breaker

G00801034 598.89$                             1" - 3/4" HP Swivel For Machines Running 3/4" Hose

A00900018 126.11$                             1" Leader Hose

A00900029 15.59$                               Allen Wrench 8MM

A00900030 9.26$                                 Allen Wrench 6MM

A00900031 5.89$                                 Allen Wrench 5MM

A00900032 4.49$                                 Allen Wrench 4MM

A00900033 4.18$                                 Allen Wrench 3MM

A00900034 10.35$                               LocTite Blue

A00900035 23.25$                               LocTite Anti-Seize
A00900036 41.51$                               Chain Cutter Wrench Set

200901-C 2,560.64$                        Super Cutter 200 Expansion to 32"

G00100175 41.82$                             Titanium Ceramic M6 Inserts (Require 4)

G00200020 256.20$                             Rotating Spinners 100MM (Requires 4)

G00210011 244.46$                             20" Long Skid (Requires 4)

G00210015 76.97$                               Distance Plate 4" X 9" (Requires 4)

G00210082 433.55$                             Hexagon Socket Screw M8 X 25mm (Requires 10)

G00210083 2.75$                                 Hexagon Nuts 8MM (Requires 10)
G00210084 2.75$                                 Lock Washer 8MM (Requires 10)

G00200902-C 5,452.16$                        Super Cutter 200 Expansion to 32" to 48"

  G00200034 583.70$                              spacer 300 mm    (Requires 1 ) 

  G00210001 294.01$                              distance plate 380 x 120 mm with angle   (Requires 6 ) 

  G00210002 557.76$                              skid long, completely with 2 rolls(Requires 3 ) 

  G00210003 551.49$                              skid long, completely with 3 rolls(Requires 3 ) 

Super Cutter 200 Expansion to 32"

Includes Following

Super Cutter 200 Expansion to 32" to 48"



  G00210014 298.45$                              distance plate 145 x 95 mm   (Requires 3 ) 

  G00210025 1,496.00$                           connection tube   (Requires 1 ) 

 G00210082 4.34$                                  hexagon head screw M8 x 25 (Requires 36 ) 

  G00210083 2.75$                                  hexagon nut M8  (Requires 36 ) 

  G00210084 2.75$                                  spring washer M8    (Requires 36) 
  G00800013 654.86$                              Swivel 11/4" X 11/4"(Requires 1 ) 

G00100175 41.82$                             

Titanium M6 Inserts - Spray Bar (Requires 3 per head, 12 

per set)

G00200038 207.62$                             Tube Extension 4" (Requires 4)

G00200039 229.28$                             Tube Extension 6" (Requires 4) (Requires 200903-C)

G00200040 250.91$                             Tube Extension 10" (Requires 4) (Requires 200903-C)

G00200041 722.34$                             Spray Bar (Requires 4)
G00200076 198.99$                             Tube Extension 2" (Requires 4)

G00210220 1,023.00$                          Super Cutter 150 Pulling Device 8" up to 32"

210210 4,969.88$                        Pulling device from 32" up to 48"   Complete

G00200022 380.77$                              Chain 5 m  

G00210200 185.92$                             Pulling Device Top Plate 

G00210201 354.54$                             Pulling Device Pulling Tube  

G00210202 1,686.91$                          Pulling Device Chain Holder Base   

G00210203 985.80$                             Pulling Device Chain Holder (Requires 3)

G00210204 77.87$                               Pulling Eye   

G00210205 4.97$                                 Pulling Device Socket Screw M6 X 30 (Requires 12)

G00210206 2.98$                                 Pulling Device Lock Washer M6 (Requires 12)

G00210207 2.81$                                 Pulling Device Washer M6 (Requires 12)

G00210208 2.98$                                 Pulling Device Hexagon Nut M8 (Requires 12)

G00210052 0.71$                                 Pulling Device Socket Screw M8x30 (Requires 6)

G00210083 2.75$                                 Pulling Device Hexagon Nut M8 (Requires 6)
G00210103 4.18$                                 Pulling Device Screwed Pin (Requires 3)

Super Cutter 200 Pulling Device to 48"

Super Cutter 200 Spray Bars

Super Cutter 200 Pulling Device

Super Cutter 200 Parts



G00100174 55.78$                             Titanium Ceramic M14 Inserts (Requires 5)

G00100175 41.82$                             Titanium Ceramic M6 Inserts (Requires 8)

G00200007 13.64$                               Dismantling Key

G00200016 102.06$                             Rotating Spinner 8MM (Requires 4)

G00200017 116.46$                             Rotating Spinner 16MM (Requires 4)

G00200018 129.06$                             Rotating Spinner 30MM (Requires 4)

G00200019 185.52$                             Rotating Spinner 50MM (Requires 4)

G00200020 256.20$                             Rotating Spinner 100MM (Requires 4)

G00200022 380.77$                             15' Replacement Chain

G00200033 4.98$                                 Hex Head Bolt 8MM Short 

G00200035 41.20$                               Chain Retainer Bolts (Requires 2)

G00200036 100.95$                             Locking Pin for Cross Cutter

G00200038 207.62$                             Tube Extension 4" (Requires 4)

G00200039 229.28$                             Tube Extension 6" (Requires 4) (Requires 200903-C)

G00200040 250.91$                             Tube Extension 10" (Requires 4) (Requires 200903-C)

G00200041 722.34$                             Spray Bar (Requires 4)

G00200070 367.17$                             Cross Cutter Stainless Steel

G00200073 3.00$                                 Screw - Socket Hex Cap - M6 X 18MM

G00200076 198.99$                             Tube Extension 2" (Requires 4)

G00200151 8,862.75$                          Super 200 Chain Cutter Main Body Only

G00210010 186.83$                             Super 200 Regular Skid

G00210011 244.46$                             20" Long Skid

G00210014 298.45$                             Super 200 Distance Plate 4 X 6

G00210015 76.97$                               Distance Plate 4" X 9"

G00210023 2,237.78$                          Running Axle

G00210024 1,218.03$                          Rotating Body

G00210025 1,496.00$                          Fin Assembly

G00210026 192.33$                             Bearing Plate

G00210027 1,159.58$                          Chain Retainer

G00210028 97.14$                               Bearing Plate, Bronze Plated

G00210030 173.52$                             Bushing (Requires 2)

G00210031 16.72$                               Protective Synthetic O-Ring



G00210052 4.97$                                 Hex Screw M8X30

G00210083 2.75$                                 Hex Head Nut 8MM

G00210084 2.75$                                 Lock Washer

G00210099 16.73$                               Retaing Ring D44 (Requires 2)

G00210102 4.18$                                 Locking Jam Screw Pin M8X12 90 degree Point

G00210103 4.18$                                 Jam Screw M8X12 Hex Head

G00210111 90.79$                               Tips or Blocks For Chain Per Set (Requires 2)

G00210200 185.92$                             Pulling Device Top Plate 

G00210201 354.54$                             Pulling Device Pulling Tube  

G00210202 1,686.91$                          Pulling Device Chain Holder Base   

G00210203 985.80$                             Pulling Device Chain Holder (Requires 3)

G00210204 77.87$                               Pulling Eye   

G00210205 4.97$                                 Pulling Device Socket Screw M6 X 30 (Requires 12)

G00210206 2.98$                                 Pulling Device Lock Washer M6 (Requires 12)

G00210207 2.81$                                 Pulling Device Washer M6 (Requires 12)

G00210208 2.98$                                 Pulling Device Hexagon Nut M8 (Requires 12)

G00210220 1,002.95$                          Super Cutter 150/200 Pulling Device 8" up to 32"

G00800012 598.90$                             1" HP Swivel

A00800055 35.94$                               Grease Gun

A00800057 148.02$                             Tool Box 28"

A00800066 88.31$                               Heavy Duty Chain Breaker

G00801034 598.89$                             1" - 3/4" HP Swivel For Machines Running 3/4" Hose

A00900018 126.12$                             1" Leader Hose

A00900029 15.91$                               Allen Wrench 8MM

A00900030 9.26$                                 Allen Wrench 6MM

A00900031 5.89$                                 Allen Wrench 5MM

A00900032 4.49$                                 Allen Wrench 4MM

A00900033 4.18$                                 Allen Wrench 3MM

A00900034 10.35$                               LocTite Blue

A00900035 23.25$                               LocTite Anti-Seize
A00900036 41.51$                               Chain Cutter Wrench Set

Super Nova 4000 Chain Cutter Kit



200400-C 12,584.80$                      Super Nova 4000

G00100174 55.78$                             M 14 Tit. Ceramic Inserts (Requires 5)

G00100175 41.82$                             M 6 Tit Ceramic Inserts (Requires 8)

G00200009 4.32$                                 Socket Screws M8X20 (Requires 2)

G00200017 116.46$                             rotation nozzle (spinners) 16 mm (Requires 4) 

G00200018 129.06$                             rotation nozzle (spinners) 30 mm (Requires 4) 

G00200410 2,356.52$                          Running Axle

 G00200411 2,966.51$                          Rotating Body

G00200412 1,305.77$                          Chain Retainer

G00200413 3,017.96$                          Base Body

G00200414 259.41$                             Skids

G00200415 103.76$                             Distance Plate 129 X 95 (Requires 5)

G00200422 419.38$                             Chain 5 Meters

G00200423 56.23$                               Bolts for Chain (Requires 2)

G00200424 6.51$                                 

Scoket Screw M10X30 with nut and washer                        

(Requires 10)

G00200425 6.51$                                 

Scoket Screw M10X30 with nut and washer                        

(Requires 10)

G00200426 488.58$                             Teflon Bushing (Requires 2)

G00210111 90.79$                               

Tips or Blocks For Chain Per Set of 2 (Requires 2) 

(Optional)

G00210026 192.33$                             Bearing Plate (Requires 1)

G00210028 97.14$                               Bearing Plate, Bronze Plated (Requires 1)

G00210031 16.72$                               Protective Ring (Requires 1)

G00210053 4.34$                                 Cylinder Screw (Requires 5)

G00210074 4.34$                                 Socket Screws M10X30 (Requires 8)

G00210099 15.16$                               Retaining Ring (Requires 2)

G00800013 654.86$                             Swivel 1 1/4" X 1 1/4" 

A00800055 35.94$                               Grease Gun

A00800057 148.02$                             Tool Box 28"

A00800059 8.66$                                 Screw Plug 1"

A00800060 8.66$                                 Screw Plug 11/4"



A00800066 88.31$                               Heavy Duty Chain Breaker

G00801141 654.86$                             Swivel 11/4" X 1"

A00900029 15.91$                               Allen Wrench 8MM

A00900030 9.26$                                 Allen Wrench 6MM

A00900031 5.89$                                 Allen Wrench 5MM

A00900033 4.18$                                 Allen Wrench 3MM

A00900034 10.35$                               LocTite Blue

A00900035 23.25$                               LocTite Anti-Seize
A00900036 41.51$                               Chain Cutter Wrench Set

200402-C 2,948.99$                        Super Nova 4000 Expansion Kit From 16" to 24"

G00100175 41.82$                             Titanium Ceramic Insers M6 (Requires 4)

G00200019 185.52$                             Rotation Nozzles (Spinners) 50mm (Requires 4)

G00200420 493.10$                             Skids up to 24" (Requires 5)

200403-C 3,763.49$                        Super Nova 4000 Expansion Kit From 24" to 32"

G00100175 41.82$                             Titanium Ceramic Inserts M6 (Requires 4)

G00200020 256.20$                             Rotation Nozzles (Spinners) 100mm (Requires 4)

G00200421 596.91$                             Skids with Wheels (Requires 5)

200404-C 5,129.93$                        Super Nova 4000 Expansion Kit from 32" to 48"

G00200034 583.70$                             Spacer 300mm

G00200416 125.40$                             Distance plate 129 x 200 (Requires 3)

G00200417 167.25$                             Distance Plate 129 x 300 (Requires 3)

G00200422 419.38$                             5M Chain

G00200424 6.51$                                 

Hexagon Screw m10X30 complete with nut and lock washer 

(Requires 24)

G00210001 294.01$                             Distance Plate 380 x 120mm with angle (Requires 3)

G00210002 557.76$                             Skid long, complete with 2 rollers (Requires 3)

G00210014 298.45$                             Distance Plate 95 x 145 (Requires 3)

G00210025 1,496.00$                          Connection Tube

SUPER NOVA 4000 EXPANSION KIT FROM 16" TO 24"

SUPER NOVA 4000 EXPANSION KIT FROM 24" TO 32"

SUPER NOVA 4000 EXPANSION KIT FROM 32" TO 48"



G00210082 4.34$                                 Hexagon Screw M8 x 25 (Requires 24)

G00210083 2.75$                                 Hexagon Nut M8 (Requires 24)

G00210084 2.75$                                 Lock Washer M8 (Requires 24)

A00800057 148.02$                             Tool Box 28"

G00200421 596.91$                             

skid for set up to 32"  complete with wheels not included in 

standard delivery - not necessary if already purchased 

(Requires 3)

G00200430 2,661.57$                          
Pulling Device Super Nova for Pipe Diameters 200-800mm

G00200049 337.26$                             Pulling Device Teflon Bushing

G00200430 2,661.57$                          
Pulling Device Super Nova for Pipe Diameters 200-800mm

G00200431 15.15$                               Pulling Device Protective Ring

G00200432 367.52$                             Pulling Device Holding Disk

G00200433 501.54$                             Pulling Device Body with Guide

G00210027 1,159.58$                          Pulling Device Chain Holder

G00210085 5.46$                                 Hexagon Screw M6 X 16 (Requires 4)
G00210204 77.87$                               Pulling eye Complete with nut and washer M10

210210 4,969.88$                          
Pulling Device Super Nova for Pipe Diameters up to 48:

G00200422 419.38$                             5M Chain

G00210052 0.71$                                 Socker Screw M8 X 30 (Requires 6)

G00210083 2.75$                                 Hexagon Nut M8 (Requires 6)

G00210103 4.18$                                 Pulling Device Screwd Pin  (Requires 3)

G00210200 185.92$                             Pulling Device Top Plate 

G00210201 354.54$                             Pulling Device Pulling Tube  

G00210202 1,686.91$                          Pulling Device Chain Holder Base   

G00210203 985.80$                             Pulling Device Chain Holder (Requires 3)

Optional:

Pulling Device Super Nova for Pipe Diameters 200-800mm

FOLLOWING PARTS ARE INCLUDED:



G00210204 77.87$                               Pulling Eye   

G00210205 4.97$                                 Pulling Device Socket Screw M6 X 30 (Requires 12)

G00210206 2.98$                                 Pulling Device Lock Washer M6 (Requires 12)

G00210207 2.81$                                 Pulling Device Washer M6 (Requires 12)

G00210208 2.99$                                 Pulling Device Hexagon Nut M8 (Requires 12)
G00210210 4,969.88$                          Pulling Device For SN 4000 complete

G00100175 41.82$                             M6 Titanium Ceramic Inserts

G00200038 207.63$                             Tube Extension 100MM (Requires 4)

G00200039 229.28$                             Tube Extension 150MM (Requires 4)

G00200040 250.91$                             Tube Extension 250MM (Requires 4)

G00200041 722.34$                             Spray Bars SCP200 (Requires 4)

G00200076 198.99$                             Tube Extension 50MM (Requires 4)
G00200077 298.37$                             Tube Extension 400MM (Requires 4)

G00100174 55.78$                             Titanium Ceramic M14 Inserts (Requires 5)

G00100175 41.82$                             Titanium Ceramic M6 Inserts (Requires 8)

G00200009 4.32$                                 Socket Screws M8X20 (Requires 2 )

G00200016 102.06$                             Rotating Spinner 8MM (Requires 4)

G00200017 116.46$                             Rotating Spinner 16MM (Requires 4)

G00200018 129.06$                             Rotating Spinner 30MM (Requires 4)

G00200019 185.52$                             Rotating Spinner 50MM (Requires 4)

G00200020 256.20$                             Rotating Spinner 100MM (Requires 4)

G00200034 583.70$                             Spacer 300mm

G00200038 207.63$                             Tube Extension 100MM (Requires 4)

G00200039 229.28$                             Tube Extension 150MM (Requires 4)

G00200040 250.91$                             Tube Extension 250MM (Requires 4)

G00200041 722.34$                             Spray Bars SCP200 (Requires 4)

G00200049 337.26$                             Pulling Device Teflon Bushing

G00200076 198.99$                             Tube Extension 50MM (Requires 4)

G00200077 298.37$                             Tube Extension 400MM (Requires 4)

G00200410 2,356.52$                          Running Axle

Additional Equipment - Super Nova 4000 - For Cleaning Interior Pipe Walls from 300MM and up

Super Nova 4000 Parts



 G00200411 2,966.51$                          Rotating Body

G00200412 1,305.77$                          Chain Retainer

G00200413 3,017.96$                          Base Body

G00200414 259.41$                             Skids

G00200415 103.76$                             Distance Plate 129 X 95 (Requires 5)

G00200416 125.40$                             Distance plate 129 x 200 (Requires 3)

G00200417 167.25$                             Distance Plate 129 x 300 (Requires 3)

G00200422 419.41$                             Chain 5 Meters

G00200423 56.23$                               Bolts for Chain (Requires 2)

G00200424 6.51$                                 

Scoket Screw M10X30 with nut and washer                             

(Requires 10)

G00200425 6.51$                                 

Scoket Screw M10X30 with nut and washer                         

(Requires 10)

G00200426 488.58$                             Teflon Bushing ( Requires 2)

G00200430 2,661.56$                          
Pulling Device Super Nova for Pipe Diameters 200-800mm

G00200431 15.15$                               Pulling device Protective Ring

G00200432 367.52$                             Pulling Device Holding Disk

G00200433 501.54$                             Pulling Device Body with Guide

G00210111 90.79$                               Tips or Blocks For Chain Per Set of 2

G00210026 192.33$                             Bearing Plate (Requires 1)

G00210027 1,159.58$                          Pulling Device Chain Holder

G00210028 97.14$                               Bearing Plate, Bronze Plated (Requires 1)

G00210031 16.65$                               Protective Ring(Requires 1)

G00210053 4.34$                                 Cylinder Screw (Requires 5)

G00210074 4.34$                                 Socket Screws M10X30 (Requires 8)

G00210082 4.34$                                 Hexagon Screw M8 x 25 (Requires 24)

G00210083 2.75$                                 Hexagon Nut M8 (Requires 24)

G00210084 2.75$                                 Lock Washer M8 (Requires 24)

G00210085 4.34$                                 Hexagon Screw M6 X 16 (Requires 4)

G00210099 15.16$                               Retaining Ring (Requires 2)

G00210103 4.18$                                 Screwd Pin  (Requires 3)



G00210200 185.92$                             Pulling Device Top Plate 

G00210201 354.54$                             Pulling Device Pulling Tube  

G00210202 1,686.90$                          Pulling Device Chain Holder Base   

G00210203 985.80$                             Pulling Device Chain Holder (Requires 3)

G00210204 77.87$                               Pulling Eye   

G00210205 4.97$                                 Pulling Device Socket Screw M6 X 30 (Requires 12)

G00210206 2.98$                                 Pulling Device Lock Washer M6 (Requires 12)

G00210207 2.81$                                 Pulling Device Washer M6 (Requires 12)

G00210208 2.98$                                 Pulling Device Hexagon Nut M8 (Requires 12)

G00800013 654.86$                             Swivel 1 1/4" X 1 1/4" 

A00800055 34.60$                               Grease Gun

A00800057 148.02$                             Tool Box 28"

A00800059 3.13$                                 Screw Plug 1"

A00800060 3.48$                                 Screw Plug 11/4"

A00800066 88.31$                               Heavy Duty Chain Breaker

G00801141 654.86$                             Swivel 11/4" X 1"

A00900029 15.91$                               Allen Wrench 8MM

A00900030 9.26$                                 Allen Wrench 6MM

A00900031 5.89$                                 Allen Wrench 5MM

A00900033 4.18$                                 Allen Wrench 3MM

A00900034 10.35$                               LocTite Blue

A00900035 23.25$                               LocTite Anti-Seize
A00900036 41.51$                               Chain Cutter Wrench Set

KIT-0.50 13 PC 6,363.60$                        

Cleaning, Traction, Standard, Sewer Flush, Ball, Forward 

Jet, Egg Devastator, Rambo, Rotor, Micro Chain Cutter, 4 " 

Skid for Micro, 13 Piece Case

KIT-0.50 5 PC 2,431.46$                          2,908.12$                        Cleaning, Traction, Rambo, Rotor, Ball, 5 Piece Case

KIT-0.50-BASC 1,339.02$                          1,669.19$                        Cleaning, Traction, Triple Edge Quattro, Pelican Case

KIT-0.50-CLN 3,133.03$                          3,390.41$                        

Cleaning, Traction, Triple Edge Quattro, Forward Jet, Rotor, 

Sewer Flush, 5 Piece Case

KITS



KIT-0.50-COMP 3,108.48$                          3,614.36$                        

Cleaning, Traction, Rambo, Forward Jet, Rotor, Egg 

Devastator, 5 Piece Case

KIT-0.50-GRSE 2,474.89$                          3,055.85$                        

Cleaning, Traction, Triple Edge Quattro, Forward Jet, Rotor, 

5 Piece Case

KIT-0.50-PLMB 1,614.66$                          1,967.39$                        

Cleaning, Traction, Triple Edge Quattro, Forward Jet, 5 

Piece Case
KIT-0.50-SANI 2,294.03$                          2,818.76$                        Cleaning, Traction, Rambo, Rotor, 5 Piece Case

KIT-0.75-BASC 4,662.92$                          5,362.39$                        Rambo, Cleaning, Traction, Torpedo, 3/4" Case

KIT-0.75-SANI 6,085.62$                          6,944.55$                        
Rambo, Cleaning, Traction, Torpedo, Rotor, 3/4" Case

KIT-0.75-STRM 7,218.97$                          8,401.83$                        Royal, Torpedo, Sewer, Traction, Rambo, 3/4" Case

KIT-0.75-STRTR 2,209.94$                          2,664.68$                        
Traction, Triple Edge Quattro, Cleaning, 3 Nozzle Case

KIT-1-BASC 5,656.10$                          6,443.12$                        Torpedo, Cleaning, Traction, Rambo, 1" Case

KIT-1-COMP 9,333.53$                          10,258.52$                      

Torpedo, Cleaning, Traction, Rambo, Royal, Small Rotor, 1" 

Case

KIT-1-SANI 7,023.35$                          8,194.12$                        
Torpedo, Cleaning, Traction, Rambo, Small Rotor, 1" Case

KIT-1-STRM 7,308.17$                          8,699.27$                        Royal, Torpedo, Sewer, Traction, Rambo, 1" Case

KIT-1-STRTR 3,078.53$                          3,465.91$                        
Cleaning, Traction, Triple Edge Quattro, 3 Nozzle Case

KIT-1-ALUM 6,658.62$                          7,593.63$                        Torpedo, Cleaning, Royal, Traction, 1" Case

500000 97.60$                             5 Piece case for 1/2" Nozzles

500001 125.48$                           13 Piece Case for 1/2" Nozzles

500002 176.43$                           3 Nozzle Starter Case

500003 334.62$                           3/4" Nozzle Case

500004 334.62$                           1" Nozzle Case

500005 97.59$                             3/8"/1/2" Pelican Case with Foam

3/4" KIT

1" KITS

ALUMINUM KIT

CASES



500006 41.82$                             1/4" Pelican Case with Foam
500007 384.25$                           Camera Case

FE-412 126.75$                             1/2" x 4 x 4 Finned Nozzle Skid

FE-41-4WH 133.09$                             4" Stainless Steel HD Skid

FE-41ALHD 142.31$                             4" Aluminum Guide Skid HD  3/4"

FE-61-4WH 142.31$                             6" Stainless Steel HD Skid

FE-61ALHD 142.31$                             6" Aluminum Guide Skid HD

FE-61ALHD 8" 147.80$                             6" Aluminum Heavy Duty 8" Long  3/4"

FE-612 139.43$                             Heavy Duty Aluminum Skid 6"

A00100287P 54.95$                               Plastic Skids Aqua Power

A00210045P 54.95$                               Plastic Skids SPC150 Cutter

SDP-060 361.24$                             1" Proofer Skid 6"x12"

SDP-360 361.24$                             3/4" Proofer Skid 6"X12"

G00800010 470.87$                             1/2" x 1/2" Swivel

G00800011 506.36$                             3/4" X 3/4" Swivel

G00800012 598.89$                             1" X 1" Swivel

G00800013 654.86$                             1 1/4" X 1 1/4" Swivel

G00800014 760.22$                             1 1/2" X 1 1/2" Swivel

G00801012 598.65$                             1" X 1/2" Swivel

G00801034 598.89$                             1" X 3/4" Swivel

G00801141 654.86$                             1 1/4" X 1" Swivel

G00803412 506.36$                             3/4" X 1/2" Swivel

G00800055-A 6.20$                                 Grease Fitting

700-D089 59.58$                               3" X 3' Tyger Tails

800001 126.60$                             149.66$                           Turbo Adapter 1" 

G00700058_KVC 1,178.49$                        Push Back Wheel -Jameson Kit 

G00801005 977.04$                           Top Manhole Roller

800004 506.95$                             4 Lug Anti-Hook Device

800005 633.71$                             5 Lug Anti-Hook Device

Other

SWIVELS & SKIDS

Tyger Tails



Flow Meter Tube 

Assembly 3,162.46$                          

Flow Meter Tube Assembly including Hitch Attachment and 

Clear Acrylic Tube

A00800006 6.76$                                 U-Bolt for Flow Meter Assembly

A00800007 14.69$                               5/8" In Pin w/Clip for Flow Meter Assembly
A00800008 971.57$                             Hitch Attachment for Flow Meter Assembly

LH0810 104.98$                             1/2" X 10' Leader Hose

LH0815 138.40$                             1/2" X 15' Leader Hose

LH0820 171.93$                             1/2" X 20' Leader Hose

LH0825 205.28$                             1/2" X 25' Leader Hose

LH1210 113.88$                             3/4" X 10' Leader Hose

LH1215 128.71$                             3/4" X 15' Leader Hose

LH1220 155.12$                             3/4" X 20' Leader Hose

LH1225 171.12$                             3/4" X 25' Leader Hose

LH1610 134.36$                             1" X 10' Leader Hose

LH1615 163.73$                             1" X 15' Leader Hose

LH1620 183.25$                             1" X 20' Leader Hose

LH1625 206.75$                             1" X 25' Leader Hose

Reducers & Expanders

A00800023 62.98$                               Expander 1" x 1 1/4"

A00800024 18.70$                               Expander 3/4" x 1"

A00800027 12.83$                               Expander HP 1/2" x 3/4" 

A00800020 17.33$                               Reducer 3/4" x 1/2"

A00800021 17.67$                               Reducer 1" x 3/4"

A00800022 23.09$                               Reducer 1 1/4" X 1"

A00800025 17.33$                               Reducer 1/2" x 3/8"

A00800026 15.40$                               Reducer 3/8" x 1/4"

A00800028 12.83$                               Reducer 3/4" to 5/8"

A00800029 39.20$                               Reducer 1 1/2" x 1 1/4"

Leader Hose

KEG TECHNOLOGIES, INC.

6220 N Pinnacle Drive



6220 N Pinnacle Drive

Spartanburg, S.C .  29303

866.595.0515 Toll Free Phone 

866.595.0517 Toll Free Fax

sales@kegtechnologies.net


